Abies concolor
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les vejari
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Calocedrus decurrens
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Cupressus forbesii
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Cupressus lusitanica
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Cycnoches ventricosum
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Encyclia adenocaula
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Juniperus californica
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Juniperus sabinoides monticola

n=23

*----

-

Ov¢c 0¢¢ 00¢ 08T 09T

*--

.---+ .

ov 0c¢ 0 0c- Oy
I I I
0S¢ 00¢ 0ST
I I I I
00S¢ 000¢ 00ST 000T
I I I
<72 0L 99
I I I I I I
09T ovT 0ct
I I I I I I I
09T 0ctT 08 09 Ov

BIO7

BIO6

BIOS

BI04

BIO3

B1O2

BIO1

ov o¢

0¢c 0T

-

0s€ 00¢

0S¢ 00c 0ST

=

008T 00¥T 000T 009
I I I I I
0¢T 00T 08 09 Ov
I I I I I I I
09T 0ctT 08 09
I I I I I
0¢T 00T 08 09 OF

*---.

09T 0ctT

08 09 OF

BIO14

BIO13

B1O12

BIO11

BIO10

BIO9

BIO8

00¢ 0sT 00T

0s

=

0S¥ 00y 0SE 00€ 0S¢ 00¢C

=

00T 08 09 OF O0O¢

s

000T 008

009 oov

----A,

OTT

00T 06

08 0L

BIO19

BIO18

BIO17

BIO16

BIO15



Laelia speciosa
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Mormodes maculata unicolor
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Oncidium leucochilum
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Oncidium tigrinum
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Pinus attenuata
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Pinus caribaea hondurensis
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Pinus contorta murrayana
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Pinus coulteri
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Pinus culminicola
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Pinus jeffreyi
n=99

0s€ 00€

0S¢

ov-

08- 0ct

00€ 0S¢

00¢

0004 0009 000S 000¥
I I I
i} 08 514
I I I I
08T 09T orT 0cT
I I I I I I I I
ovT 00T 09 0¢c 0

BIO7

BIO6

BIOS

BI04

BIO3

B1O2

BIO1

2

00€ 0S¢ 00¢ OST 00T 0§

-

00ST 000T 00S
I I I I I I I I
09 0c 0c- 09—
I I I I I I I I
00¢ 09T 0cT 08
I I I I I I I
00¢ 09T 0ctT 08

08 09 O O0¢

I I I
0 ov—

BIO14

BIO13

B1O12

BIO11

BIO10

BIO9

BIO8

008 009 0oy

00¢

0ST 00T

09

08 09 ov

0¢

008 009 00v 00¢

06 08 0L

09

BIO19

BIO18

BIO17

BIO16

BIO15



=24

Pinus johannis
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Pinus monophylla
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Pinus strobiformis
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Pinus strobus chiapensis
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Podocarpus matudae
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Prosthechea citrina
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Prosthechea vitellina
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Pseudotsuga menziesii glauca
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Rhynchostele cervantesii
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Rhynchostele cordata
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Rhynchostele rossii
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Taxus globosa
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